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I. Establishing authorship of our niwn #2: not oy "
a. Proofl: »ov "1 (kn13, above) has p¥ achieving acceptance for m5ar
b. Rejection: »ov "1 agrees with X" — 07T without w2
c. Question: why does 'ov "1 hold that m% R % nxn pxn pr?
i. For that matter: since X" holds 07 892 7w31, why does he say m>aR Yy nxn px?
ii. Answer: to confirm status as 5139 and to remove status vis-a-vis n2yn
1.And: »ov "7 disagrees and holds that y’x doesn’t confirm as Y18 or remove status vis-a-vis n»yn
d. Proof2: if »ov "1 holds like 8™, all but on%n 'nw have symbolic portion on nam (::07); but onYn MY?
i. proposal: onYn "N refers to Nax YV Mar eaten with them
1.Rejection: that's listed (so list is “4”, not “5”)
ii. Proposal: ov "1 holds 71181 nmn nrmMo
1.Rejection: »ov "1 requires nrrn on 3 and 7t day for »n2 before 5" — mustn’t hold 11axa namn nrmo
e.Conclusion: our mwn is not authored by »ov 1. QED
II.  Reassessing 'ov "1 (kn»11 [above] prefers ywin’ "3 and X" in both onar and mnn)

a.  Question (7ax% 977): how does »ov "1 rule like both opposing sides of a dispute?
b. Answerl: he reasons that their disagreement carries over from o> nar >nmn

i. Question: why would he apply from mnin->o’nar; source-texts are re: nnar
c.  Rather: prefers 8™ if ®no1 (Y>%) and > if lost/burned

i. Challenge: ov 1 says ¥ doesn’t help w/mb>ar
d. Rather: »ov "1 prefers ®™ in case of 111¥; YW1’ "1 in case of T
i. Challenge: yv1n "3 himself allows in case of Tax
e.Rather: 7ay»1a R™3, 1Y NNaY »>
i. Challenge: yw "1 agrees that Tay*13, DTH NP1 is accepted
f. Final answer: that’s only re: nRmv — s0...8"3 n35n re: lost/burned Tayr1a
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